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000204 SECURITY ANALYSIS AND PORTFOLIO MANAGEMENT (OA-18)

Duration : 3 Heurs ' ; : Max. Marks : 60

Instructions : 1) This paper cons:sts of nine questions carrying equal '
- marks. ,
2) Question No. 1 consists of 5 compulsory questions of
2 marks each.
3) Answer any 5 questions from question 2, 3,4, 5,6, 7, 8
and9.
4) Each question carries 10 marks. Flgure to right indicate
marks.
: 5) Present value tables will be provided on request.

i Answer fhe following in brief : T 2 : (5%2=10)
a) What do you mean by Fundamental Analysis ? '
b) What is Relative Strength Index ?

c) What are the benefits of Rupee Cost Averaging ?

d) An investor buys a bond for ¥ 11,500 and holds investments for 2 years
during which time he receives an interest of 10 percent per year from the
company. After two years he sells the bond for ¥ 15,000. What is the holding
period return ?

e) P Lid. shares gives a return of 20 percent and B Ltd. shares gives 32 percent
return. Mr. Nitin invested 25 percent in P Ltd. shares and 75 percent in B Lid.
shares. What would be the expected return of the portfolio ?

2. Explainthe Capital Asset Pricing model and its assumptions. 10

3. What is Risk ? How do you distinguish between Systematic and Unsystematic
Risk ? 10

4. Explain in detail the Dow The'ory and how is it used to determine the direction of
the stock market. : 10
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5. The returns onthe equity stock of Infosys lelted and the market portfoho overa
11-year period are given below :

Year 1121383414 568 7 | 81911011

Return on Infosys Ltd'.(%)' 15|-6118130(12|25] 2 [20| 18|24 | 8
Return on Market Portfolio | 12| 1|14 |24 |16|30|-3|24[15]|22] 12

a) Calculate the beta for the stock of Infosys Limited.
b) Establish the characteristics line for the stock of Infosys Limited. , 10

6. The bond of Cee Ltd. Company sellsatZ 115. They have 11 percent coupon rate
of interest and ¥ 100 par value. The interest is paid annually and the bonds have
18 years to maturity. Compute the yield to maturity of the bond. Compare the
computed YTM with the coupon interest rate. How do you explain the dlfference _
between the current price and the par value of the bond ? 10

7. The expected rate of return and the possibilities of their occurrence of Dew
Company and Raindrop Company Scrips are given below :

Probability of occurrence Retutn on Dew's Scrtp >Return on Baindrop_Scrip
0.05 ° - 2.0 ; -30
0.20 90 2l 6t gl
0.50 Wedag Al 11.0
0.20 ‘ 1'5.0 14.0
0i05. 26.0 e

a) Find out the expected rate of return for Dew and Raindrop Scrips.
b) If an investor invests equally in both the scrips what would be the return.

c) If the proportion is changed to 25% and 75% and then to 75% and 25%. What
would be the expected rate of return ? 10

8. Pandlan & Co. has common shares outstandmg in the market with price earning

~ ratio of 15. The annual expected growth in earnings, dividends and price is
7 percent. The earnings per share is T 2.5, the dividend payout is 60% and the
investor wants to hold the stock for 4 years. The required rate of returnis 15 percent.
What would be the presentvalue ? 10
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9. Considerthe folloWing information for three Mutual Fund A, B, C and the market
el ‘ Return on | Risk Free
: g A Fungik Funq & Market Return
Mean : R, e 170 | 145 | 138 11 8.6
Standard deviation :0, | 28.1 | 19.7 | 228 20.5 i
|BetaB, 120 | 092 | 1.04 1.00 .

Calculate the Treynor measure, Sharpe measure and Jensen measure for the :
three mutual funds and the market mdex i 10




